f’i‘ VIDY A BHAWAN, BALIKA VIDYAPITH
A Shakti Utthan Ashram, Lakhisarai-811311(Bihar)
(Aftiliated to CBSE up to +2 Level)

CLASS: 7™

DATE: 19-01-2021

31.5+3is equal to

(@ 1 )2
(c)_ 5 (d) 3.
32.14 +7is equal to

(@) 1 b)) 2
(e) 3 @ 4.

33.7+1is equal to

5
(a) b) 3

Ot O

(c)

34.7+ 4is equal to

(a) (b)

N 00|

(c) d)

35.37+ 10 is equal to

(a) b)

W N -

() )

36. 5 paise is equal to

O |

| = |

MCQs

(d) none of these.

(@z05 (5)%0.05
(¢) % 0.005 (d)  0.0005.

37.5 cm is equal to

(@) 0.005 km

(5) 0.00005 km

(c) 0.000005 km (d) none of these.




38. 150 gisequal to

(a) 0.15 kg (b) 0.015 kg

(c) 0.0015 kg (d) 0.00015 kg
39. The place value of 2 in 2.38 is

(@)1 (b) 2

(c) 20 (d) 0.2

40. The place value of 2 in 5.32 is

(a) 2 (b) 0.2

(c) 0.02 (d) 0.002

41. How much less is 10 km than 30.6 km?
(a) 10.6 km (b) 20.6 km

(c) 30.6 km (d) 10 km
42.Find: 2.5 x 4

(a) 10 (b) 5

(c)8 (d) 12

43. Find: 1.2 x 1.2

(a) 144 (b) 14.4

(c) 1.44 (d) none of these
44. 1.2 x 10 is equal to

(a) 12 (b) 120

(c) 0.12 (d) none of these
45.0.6 x 100 is equal to

(@) 6 (b) 60

() 600 (d) 0.06




